SH7ESH8218 AR 11 kv (EROERIEM, Keg)
T EDEE FEXIENS]

8 2 T m B - w8

ER BE|IEE =mroplz@ml> * [ & B8] @ B] & @
xR0 | £ B 268 33 | 1,296 350 | 185 | 2,000 367
=E0 | = B | 1,079 1,079 | 1,404 100
FEH | B B 347 347 | 1,836 345
O5H | W O 38 88 | 3,700 1,200
puEsnn| £ & 17 17 | 4,550 850
T sl 5 B 758 221 | 2,484 216 | 537 [ 3200 100
x 7
E C | ® 8 255 155 | 2,700 1,404 | 100 | 2,160 1,512
rFEC (TR
T
520| & B 8 2 2,400 6 [ 12,000 9,000
=]
®) = it x 3 3 37,800
FE<n | F = 30 30 | 2,268 1,500
b | B X 30 30 | 1,500 1,200
LUH| & 1B 50 50| 800 550
n 8| = = 5 5 2,160
A B
D =| BE B 75 75 1,800
bH WK B 68 68 | 2,052 1,500
SRTE
WhH U | tBEa 87 871512 267
WU | E B 126 126 | 1,188 200
DPHhU | E B 49 49 1,350 432
ALHL| = = 303 303| 576 468
= F |2 W 115 115 | 734 475
S AZE | tBE 446 446 | 2,970 1,300
hob | & B 64 64 | 1,042 972
I2000| 5 & 280 280 | 918 864
FTALD | & 18 200 92 | 3240 1026 | 1082970 1,215
50 | X IR 27 27 [ 1,750 1,728
558 | & W 20 20 3,780
FENOH
ek | 703w 16 16 | 1,026 189
D56 | = = 212 212 | 2,646 1,166
<BFES 8 8 5,184
WA E
=hE 64 64 | 1,650 1,550
BBAZHD
BH L)
emiz0| B 5 286 286 | 2,580 1,230
P 340) 23 23 | 3590 1,500
B E C
S
=
B = | A R 281 281 | 2,160 1,250

E A PEEIHEO DDBE

11,086




KEVIALIEEEBER (N0T)
SANT7TESH218 KEB wAmE 11 ~Y
R elE wa BiER Tt e ale wla 8| fR R B,
500AE E| 512 [«e[2.100 1548 | [DIC &
AN /) LT /]
Nz D L gTHIC /)
WDLET L A DS /
R [ LA ARA) ]
A O I B Ic C ]
WolLAF|E Al 5 240 0 IZFEDED I
>2HDAF 1 SR aYANE /
Entet|x | 20 |u 2,880 HEg I
ShAFERT 1 [Edt=1Rva) /]
FLhH® 1 BT /]
FLHNL 1) arstwl B AES 81/ 2,138
24T DD 1 ARSI /1
DFEEFC|A IR 813 [11]2,411 383 | [1BHOF I
5 < DK k[1.888][1]1.461 432 | [wiv8oF /]
fR % GoleS M8 /) BEAFE I
EFHN0) 0 BFE T /l
+=79 1) BSEIE F] 444 1] 945 837
FiRERE /) R F /1
BESAE /) BHA F| 8 i 51/ 2,000
MesL|B BX| 43 [n[2520 1188 [W <5 /]
BENET /) SRIC LA /]
ELIHT T ENEEE 1]
Z2LISEE 1)
sroopn| EL B 12 |1 2,300 ZDM 7.322 [ 11
a8 s 11.072 [keg




